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GENERAL INSTRUCTIONS for This Test

» The question paper consists of 3 sections (Section-A contains Physics, Section-B contains
Chemistry, Section-C contains Biology).

» This Question Paper contains a total of 60 quesstions.

» All questions are single correct type questions. Each of these questions has four choices (A), (B), (C) and
(D) out of which ONLY ONE is correct.

» Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

» For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to
the correct answer and zero mark if no bubble are darkened. In all other cases, minus one (—1) mark will
be awarded

> Also read instructions written on the OMR sheet.

Y

Please fill the OMR answer sheet accordingly and carefully.

» Blank spaces and blank pages are provided in this booklet for your rough work. No additional sheets will
be provided for rough work.

» Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.
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PART-1: PHYSICS

[SINGLE CORRECT CHOICE TYPE]

1. An electric dipole is placed at the centre of a sphere. Mark the correct options.
Th dTd fogd Mol & = R @ 8 | 98 fIdbey gfg —
(A) The electric field is zero at every point of the sphere.
M & 9% g = fgd &3 7 2 |
(B) The flux of the electric field through the sphere is non-zero.
el | YOk dTell Jegd Foladd 3 2 |

(C) The electric field is zero on a circle on the sphere.
Ml o Rerd ga W g &3 3= 2 |
(D) The electic field is not zero anywhere on the sphere.
Ml & =l Y g W faega & g 11 2 |
2. A total charge of 20 nC is divided into two parts and placed at some distance apart. If the charges
experience maximum coulombian repulsion, the charges should be :
20 uC & Gl MIY BT &I Al § AR (G- 9 FB g W G 8| AR A e i gaiia
ORIyl 9o HEGH B 81 Al 59 AT P A B -

40 20
(A)5uC, 15puC (B) 10pC, 10puC (C) 12uC, 8puC (D) ?HC:?MC
3. In following circuits the value of total resistance between X and Y in ohm is

=1 aRuell & fog X @ Y & #e7 qar 9kRIg &1 79 Q # &8R-

(A)(1+ 3)R B) (Jz3-1R (C) o (D)50r
4. In the given circuit all resistors are of equal value then equivalent resistance will be maximum between
the points.
e W uRuy 3 ¥ afcRg 99 © a1 Jod IRy #e<| 8 — R
(A) PR (B) PQ i §
(C) RQ (D) same for all (¥ & o 99 ) R Q

Space for rough work
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5. The plate separation in a parallel plate condenser is d and plate area is A. If it is charged to V volt &

battery is disconnected then the work done in increasing the plate separation to 2d will be—

AR Uee AURA &l it & 919 g1 d T ©ic &aa%d A B | afe 391 V dlee a@ R o 9
®I BT AT TR A 319 @il & 41 @1 X B 2d R H o 711 Srd 8em —

3 gyAV? ggAV? 2¢,AV? ggAV?
(A) E d (B) d (C) d (D) 2d
6. If a current, that charges a capacitor, is constant, then graph representing the change in voltage across

the capacitor with time t is-

Ife U AR BT AR BT dTell gRT BT 79 ReR g1 O, d GHI t & 1Y QIRT & fAqar=x
V # 89 darell 9Rade yefRfd &=+ drel UT% 8rn—

J

<—»

(A) (B)

<—
<—

(©) (D)

o — o —

7. A ring of radius r is uniformly charged with charge q. If the ring is rotated about it's axis with angular
frequency o, then the magnetic induction at its centre will be -
r 50 @ U@ qed B q AT W UH T wU A JARE e € Al ger @ 9w e @
AnE o dof Mgl | gurEr W @ S9d B W RO R BT

—7 ol —7 9 —7 L -7 qo
(A) 107 x o (B) 107 x — (©) 107 x oo (D) 107 x
Space for rough work
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8. A wire loop PQRSP is constructed by joining two semi circular coils of radii r; and r, respectively
as shown in the fig. Current i is flowing in the loop. The magnetic induction at point O will be -
IR & & U PQRSP &I r, T r, Bod1 & &1 AEgudR dRl ¥ SISHR a1 T &1 U 4 it
TRT fETgaR yafed 81 & 8 O R gEag &3 bl q1 81|

S TR o) Q P
Mol 111 Mol i1 1 Mol |11 Mol 1,1
(A) 4 {n rj (B) 4 {n +r2} © 2 {q rj (D) 2 {q +r2}
0. The magnetic flux linked with the coil varies with time as ¢ = 3t* + 4t + 9. The magnitude of induced

emf at t = 2 second is -
HoSel W g FEOI FAd T ¢ =30 + 4t + 9 B R uRaiia 8@ 21 t =2 second W
URa fa. @ 9@ @1 gRAT BRT—
(A) 4V B)3V ©) 16 V D)oV
10. An athelete runs at a velocity of 30 km/hr. towards east with a 3 meter rod. The horizontal component

of the earth is 4 x 10~ weber/m2. If he runs, keeping the rod (i) horizontal and (ii) vertical, the p.d.
at the ends of the rod in both the cases, will be-

(A) Zero in vertical case and 1 x 10~ V in the horizontal case.

B)1x 10~ V in vertical case and zero in the horizontal case.

(C) Zero in both the cases.

(D) 1 x 10" V in both the cases.

Uh RISl 3 W R e B B8 B oddx 30 fFHL/F0C P A F gd B AR dredl ©| YAl B
TEEN &5 B AR Ted B AF 4x 107 Ja/A 2| A 98 v B HEw: () SR R (i) et
de) dre W@ B al gl Reftdl § v @ RRI R S fAvaR @1 w9 8-

(A) Fealer Refy # g, afds Rafy & 1 x 107 dree

(B) eaier Refd # 1x 10° diee, &t Refd # <

(C) s Rfadi 4 3=

(D) @t Reft & 1x 107 dree

Space for rough work
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11. A man 180 cm high stands in front of a plane mirror. His eyes are at a height of 170 cm from the floor.
Then the minimum length of plane mirror for him to see his full length image is-
TP 180 IH) HATS BT 3MGH Th FHIA YU H A ST 7, SHH! MG 514 | 170 I SHars = ), a1
9 oIy U & BH A FHH w18 &1 BN fd g8 S ufafew )1 < dah—
(A)90 cm (B) 180 cm (C)45cm (D) 360 cm

12. A beam of light is converging towards a point. A plane parallel plate of glass of thickness t:
refractive index p is introduced in the path of the beam. The convergent point is shifted by
(assume near normal incidence):
UBI BT b Yol U fdvg @ AR SFIAAIRT 81T 2 | p UG g t HISTS B AHAA FARIR, DIA B
N Uh wic B Y & 9 H @1 Gl & | AvARa g favenfua g (e dwad simua o):

v
\_\_\_\_:_O
T
1 1 1 1
(A) t(l——j away (B) t[1+—] away (&) t(l——j nearer (D) t(l+—) nearer
n H n i
1
(A) t(l—i] 3 (B) t£1+—] 3 (©) t(l—l) fa®e (D) t(1+lj fa®e
H H H H
13. A thin linear object of size 1 mm is kept along the principal axis of a convex lens of focal length 10

cm. The object is at 15 cm from the lens. The length of the image is:
| mm T B & 9K DI 10 cm P BIHF g AT IAA W DI T el B A @A © 9%,
A" ¥ 150cm g R® & 2 | ufifiw @) awrE @ -
(A) 1 mm (B) 4 mm (C) 2 mm (D) 8 mm

14. The slits in a Young's double slit experment have equal widths and the source is placed symmetrically
relative to the slits. The intensity at the central fringe is I,. If one of the slits is closed, the intensity at this
ponit will be:
I fgRete vam # 1 Read 994 AIeE @l 8 iR Aid aFi Refel 9 J9F g WR &, dfsd it o= digd
I, 8 Ife ve Refe @1 98 B a1 SR 1 59 fawg oR e erfi—
A) 1, (B) I /4 ©) 1,2 (D) 41,

15. The ratio of de broglie wavelengths of a proton and an alpha particle moving with the same velocity
is
TP YIS T o BOT FHE I H T I8 8 I SI—aArel dee] B U Bl—
(A) 1 (B) 2 C) 4 (D) 0.25

Space for rough work
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16. The wavelength of the first line in balmer series in the hydrogen spectrum is A. What is the wavelength of
the second line :
BISIo WagH &I qR Aol BT Ugell @1 &) dIRed A ® | TR YT ) avieed § -
200 3\ 5\
e (B) 75 (©) 55 ) =
17. After a time equal to four half lives, the amount of radioacitve material remaining undecayed is -
IR | TR AT T <RI H o ASAfaea uered & T 3 srfdufed &= aret uared &1 ufoerd 28—
(A) 6.25 % (B) 12.50 % (€) 25.0 % (D) 50.0 %
18. The AM wave contains three frequencies, viz :
Th AM TR 9 mgferll e B, u' R o
(A) %%% (B) 2f, 2(f, + f), 2(f, - 1)
O f.(f, + 1), (£ 1) O f ,f,f
19. In a p-n junction,
(A) new holes and conduction electrons are produced condtinuously throughout the material
(B) new holes and cinduction electrons are produced continuously throughout the material except in the
depletion region
(C) holes and conduction electrons recombine continuously throughout the material.
(D) holes and conduction electrons recombine continuously throughout the material except in the deple-
tion region.
p-n A #
(A) T B qAT AT Foided Tardl H§ AR SO~ B 2 |
(B) T IR qAT AT Soldg = Y&l § TR S0 8 © (37dev URd H SRS 3MdeT argd! & ffaRad)
(C) BT TAT AT gelag = Ugrdl # SR §gad BIdh: AT BN I8 B |
(D) BT TAT AT Selde [ Tl H TR 7derd &3 H IURT DI TAT SIS Pl BISHR AJd BIDR
FAT B Y& B |
20. The truth table shown in figure is for
=1 g—=aReN (truth table) f& e & forg &
A 0 0 1 1
B 0 1 0 1
Y 1 0 0 1
(A) XOR (B) AND (C) XNOR (D) OR
Space for rough work
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PART-II : CHEMISTRY

[SINGLE CORRECT CHOICE TYPE]

21. The correct IUPAC name of the alkane /O\/ is:

(A) 2-Ethyl-4-methylhexane (B) 5-Ethyl-3-methylhexane
(C) 3,5-Dimethylheptane (D) 3,5-Dimethylhexane
e /O\/aﬂ & TUPAC T 2 -

(A) 2-Tfr-4-Ffreg = (B) 5-Ufdrat-3-Afdrete i
(C) 3,5-SrgafrerRe (D) 3,5-SrgHfreg i

22. Gold number gives :
(A) the amount of gold present in the colloid.
(B) the amount of gold required to break the colloid.
(C) the amount of gold required to product the colloid.
(D) none of the above.
Mes & (37d) feam S ® -
(A) PraTgs | SuRYd Mes &I AT
(B) drargs &1 dred (fAwrfora) @ forg smawasds Mes &1 A3
(C) DIATgS ! IAMad HRA & {oIg MMATIH Mes B AT
(D) §H & PIE el

23.  According to collision theory of reaction rates —

(A) Every collision between reactant leads to chemical reaction

(B) Rate of reaction is proportional to velocity of molecules

(C) All reactions which occur in gaseous phase are zero order reaction

(D) Rate of reaction is directly proportional to collision frequency.

AAfHAT B R B oY g Mg & ITAR

(A) fraTeR®! & 7eg T TdR) e AfAfhAT BRa 2 |

(B) 1fAfham @1 &% sl & 99 & |ATGURN Bl B |

(C) =t arfaforard St fos - greRen & B @ I dife @ ifafsrary el 2
(D) IMAfHaT &1 T TIHR MM & WY FHGURH B 2 |

Space for rough work
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24.

25.

26.

27.

28.

The standard oxidation potentials, E°, for the half reactions are as

a1 Aol e & 9 sifriieRor favyg E°§ :

Zn——7Zn** +2¢ ;E'=+0.76 V Fe —Fe** +2¢ ;E'=+041V
The EMF for the cell oxidation :
Ja sifrfie~e & forg EMF (Rarae) © -

Fe** + Zn — Zn** + Fe
(A)-035V B)+0.35V O +1.17V (D)-1.17V
Among the following, an intensive property is :
(A) mass (B) volume (C) surface tension (D) enthalpy
1 9§ | 13 W@ U R
(A) geH (B) 3maaH (C) g8 I (D) Ty
F-centres in an ionic crystal are
(A) lattice sites containing electrons (B) interstitial sites containing electrons
(C) lattice sites that are vacant (D) interstitial sites containing cations

U IANSG e § -3¢ ©

(A) SIS g STeleh el (B) Soldgi gad STcRThTeN ¥ered
(C) SITet® %t S fo @redl 8 (D) g gad AT oI

What is the molecular mass (M) of a compound present in a solution having concentration 1.2 g/L. and

osmotic pressure 0.2 atm at T = 300K?

T=300K W 1.2 g/L dr=dr @ 0.2 atm WRTERYT GF dTel Uh et # IuRkerd AT &1 nfdas e
(M) &1 B1TT?

(A) 148 g/mol (B) 576 g/mol (C) 3876 g/mol (D) 296 g/mol

1.6 gm CH, 2 undergo combustion at constant volume at S00K and 2.5 kcal of heat is released. Enthalpy
of combustion (A-H) of CH, will be:
g smgad dem 500K w® 1.6 gm CH
CH, & <87 @I Tl (AH) 8l

(A) 27 Kcal/mol (B) — 27 Kcal/mol (C) +23 Kcal/mol (D) —4.5 Kcal/mol

®T <e fdar ST ® dem 2.5 keal &1 faad gk @

4(2)

Space for rough work
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29. The correct increasing order of boiling point for the following alcohols is

I T YedIRlcll & Ui BT 9o gl Wal HH © —

1) A~ (ID) no” " (ID) >y V) )\OH

A)NI<I<I<IV @B IV<I<IIi<Il O)IV<II<I<Il D)IV<I<II<III
30. Which acid on heating, will give o, B unsaturated acid ?

DITAT 3T T P R oL, B AATE 7 12

OH

(A) Me—(|3H—COOH (B) Me—(|3H—CH2 —CH, -COOH
OH OH
©) Me—|CH—CH2 - COOH (D) Me—|CH—CH2 —CH, -CH, -COOH
OH OH
31. Write correct order of basic strength of following compounds.

o= AT @) e Al &1 el BH adisy |

H2
H, NH,
o™
Me

0 (1) (D

(A)I>II>111 B)II>1I>1 O HI>1>11 D) I>1I>1
32. The ammonium salt which produces ammonia gas on heating, is :

qE SEITIH AG0T ST TH BRT W ST 49 el ©

(A) NH,NO, (B) (NH,),SO, (C) NH,NO, (D) (NH,),Cr,0,
33. The correct order of solubility of the sulphates of group II elements would be :

T I & Fobel & olTeiiedr BT &l $HF BRI :

(A) BeSO, < MgSO, < CaSO, < SrSO, < BaSO,
(B) MgSO, < CaSO, < SrSO, < BaSO, < BeSO,
(C) BeSO, > MgSO, > CaSO, > S1SO, > BaSO,
(D) MgSO, > BeSO, > CaSO, > SrSO, > BaSO,

Space for rough work
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34, Velocity of an electron in a Bohr's orbit is 2 x 10° m/sec. Calculate wavelength associated with it :
IR PeT H gotded &I 9T 2 x 10° m/sec ® | 3990 AHIRIT aRaraed B 0T 6 |
(A) 0.036 A (B)36 A (C) 0.36 A (D) 3.6 A
35. Which of the following statements is not true about the effect of an increase in temperature on the distribution

of molecular speeds of an ideal gas ?
(A) The area under the curve remains same even at the higher temperature.
(B) The distribution pattern becomes more uniform.
(C) Fraction of molecules with speed greater than a particular high speed will increases.
(D) The fraction of molecules having most probable speed increases.
T 9 A DI B Bl arrael 19 P anfdass =1el faoRer R a9 # 9fg & U9d & IR | el T8l o7
(A) Tsh & = BT &7 Sd ATg WR | A BT B |
(B) fad=or urey 31fde FHwYl B ST B |
(C) U Iy Iea a1at & 31 aret dTel 3M93il &1 WRT 9§ SR |
(D) waifrs s arel aTel 3T9L3i &1 HRT 9¢ STl 2 |
36. 27 g C and 48 g O, are allowed to react completely to form CO and CO,. The weight ratio of CO and
CO, formed, is :
27gCqar48 g0, COTATCO, M & fory qoi wu & 3if¥epet &1 f&am S & | Ffffd CO @=im CO,
ST ARTUN o
(A)7:11 (B)3:4 C)14:11 (D)9:8
37. A metal having atomic mass 60.23 gm/mole crystallises in ABCABC close packing. Calculate the density

of each metal atom if edge length is 10 A.

[Given : N, =6.023 x 10%]

Teh &g foreT uAT] gee 60.23 gm/mole 8, ABCABC ffds diga # foheeeliad 8lar & | afe fFaR &
1S 10 A 2, O UAd o7 WRAY] B TIed B VAT BT |

[feam wrar 2: N, =6.023 x 10%%]

(A) 0.4 gm/ml (B) 40 gm/ml (C) 0.54 gm/ml (D) 54 gm/ml

Space for rough work
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38. For the reaction
SIGIEI I
3A+2B—4C ; AH = - 300 Cal / mol
If 5 moles of A are mixed with 4 moles of B enthalpy change for the reaction will be:
I A SHIA B B 4 91 & | i3 fvan Srg ar sifafshar &1 e uRads @ s8R |
(A) - 500 Cal (B) — 1500 Cal (C) — 600 Cal (D) — 2400 Cal
39. Select the correct statement regarding B,H,.
(A) It has only 2C — 2e~ bond (B) It is planar
(C) It does not react with NH,,. (D) Hybridisation of boron is sp?
B,H ¥ e el P 1 =g B |
(A) 359 Baa 2C - 2e” a7 BT © | (B) I8 HHICld € |
(C) 78 NH, ¥ fohar &l &l | (D) IR BT sp® HHRT & |
40. An aqueous solution of NaOH has a molarity of 0.05 M. Select the option having incorrect representation
of concentration of solution.  [d_ . = 1.002 gm/ml]
(A) %% =0.2% (B) Xy,0n (Mole fraction) = %
©) %— = % (D) ppm = 5 ppm NaOH solution
w  10.02

NaOH & el faerad & dierar 0.05 M 2 | facias &1 Tofd |r<dr &1 <o+ dial fAdhed &1 =g+
IR [, = 1.002 gm/ml]

w 0.05
% —=0.2% HIel JHIST) = —
B 75 ’ (B) Zxaon ( )= 0.05+55.56
w
Y%o—=—-—% =
©) “w 1002° (D) ppm = 5 ppm NaOH faetar=

Space for rough work
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PART-III : BIOLOGY

[SINGLE CORRECT CHOICE TYPE]

41. Main function of corpus luteum is to

(A) secrete progesterone (B) facilitate ovulation

(O) facilitate fertilization (D) facilitate passage of ova in oviducts

DI fCTH BT I B a7 57

(A) TOIRCITT BT @ (B) TSI BT 3MATE 99111 &

(C) fAN== BT A= g7 ® (D) 3rv=aifai | 3T B [olRA § FERIAT HRl &
42. The nucleus of a sperm is located in

(A) Acrosome (B) Head (C) Middle piece (D) Tail

YEPTY] BT Db Pel Red Bldl & —

(A) THIAH (B) R (C) #eg | (D) §®

43. Sterilisation techniques are generally fool proof methods of contraception with least side effects. Yet, this
is the last option for the couples because:
i. It is almost irreversible ii. Of the misconception that it will reduce sexual urge/drive
iii. It is a surgical procedure iv. Of lack of sufficient facilities in many parts of the country
Choose the correct option:
(A)iand iii (B) ii and iii (C)iiand iv (D) i, ii, iii and iv
TRIGRY] AHAID THARITD B foll FaH SUGA U © [OTH H1SC ghac HH 8 I8 ARhAl & oy 1f< Ui
T Fifd

(i) I Yofaar sgehaeiy 8 (i) ¥ gROMY & T AP $WT B HH B S
(i) 718 wreafshar fafd & (iv) 391 B3 Rl # glaenaii & &+ e[ |
(A)iand iii (B) ii and iii (C)ii and iv (D)1, i, iii and iv T
44. "Archaeopteryx" is known as connecting link showing the characters of
(A) Fishes and amphibians (B) Birds and reptiles
(C) Reptiles and mammals (D) Chordates and non-chordates
MfpareRad &1 (& A< ar9d del & U H ST Sidl 8, Jifh I8 Ud Siared 8 3R gaH ————— ®
g 3 fRward urg oIl g |
(A) TOferi] ol SwaeRi (B) o oiR g
(C) Wi 3R =i (D) HIBHAT AR BB
45. Who believed that an organ in disuse will become vestigial ?
(A) Lamarck (B) De Vries (C) Mendel (D) Darwin.
e favard o & Ul 37 S 81 Smr?
(A) AHTH (B) ! 951 (C) #vsd (D) sIfd|
46. ELISA stands for
(A) Enzyme linked immunosorbent assay (B) Enzyme linked ion sorbent assay
(C) Enzyme linked inductive assay (D) None of the above
ELISA &1 qx1 T4 forfey
(A) TT1eH folde sRgAMAdT 31 (B) T=i1gH fofds o= wrde 3™y
(C) TTrgH foids ssfdea ™ (D) SWRITT H PIg &I

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [12]
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47.

48.

49.

50.

S1.

52.

53.

SCID is caused by defective gene coding for the enzyme called

(A) Adenosine transaminase

(B) Guanosine transaminase

(C) Adenosine deaminase (D) Guanosine deaminase

e g=argd @1 Iyl SiF BIf$T & dRUT SCID dWRT 8RiT 8 2

(A) TfSAT ST RAvATS

(C) vfearrsd Svds

(B) WaERIA STATHTS

(D) TR SITATZ S

The drug useful to increase cardiovascular effects in human beings is

(A) Cocaine (B) Barbiturate

A% H HITSATIGAR I9Td BT 96 H ST 7T &

(A) DI (B) ardfene

Selective breeding, progeny testing and improvement are taking place in

(A) Cattle (B) Buffalo

(C) Benzodiazepine (D) Insulin
(OESISPSIEE] (D) sgfer
(C) Sheep (D) Annual food crops

TIfd AfeT, Adfad TeToT T Sfaaxo fhad faar ar 87

(A) Y (B) ¥4

A morula can be differentiated from blastula in-
(A) Presence of cavity

(C) Presence of yolk

Areell B gl A faufed far o1 |wdr 82—
(A) &1 &1 SuRefd |

(C) Wras & SuRfa &

Male gametophyte in angiosperms produces :

(A) two sperms and a vegetative cell

(B) single sperm and a vegetative cell

(C)vs

(D) T WIsT B

(B) Presence of more yolk

(D) Absence of cavity

(B) 1% diqe @ STReRY
(D) T&1 @1 SrguRerfcr |

(C) single sperm and two vegetative cells three sperms

(D) three sperms

3MgErSll, gredl H R JFHSG 991 ST § —
(A) &1 gHIY 3R TP PP DIRADT
(C) T 1Y) 3IR QT BIfIS BIFRTHTY

Wind pollination is common in :

(A) lilies (B) grasses
qrYg URTITYT FTHTITAT Y11 W1l % —
(A) forelr 5 (B) =t #

(B) T YR AR UH 1S DI

(D) 1 1]
(C) orchids (D) legumes
(C) siffrs o (D) o+ |

Which of the following characteristics represents ‘Inheritance of blood group’ in humans —

I. Dominane II. Condominance

V. Polygenic inheritance

(A)IL, IV and V (B) L, I and TII

1. Multiple allele IV. Incomplete dominance

(C)IL Il and V (D)L I and V

feraferRaa afdicrero § ¥ BH—3 719d § SR gt @) qemifa’ & <wifa § —

I. wwifaar I1. \EYHTIIan
V. 9gSIIHT aemid
(AL IV T V (B) L, 1L w& III

I11. 9 Tl IV. 3rgul gTfaan

(O)IL T Td V (D)L TG V
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54.

55.

56.

57.

58.

59.

60.

Which Mendelian idea is depicted by a cross in which the F -generation resembles both the parents :

(A) Incomplete dominance (B) Law of dominance

(C) Inheritance of one gene (D) Codominance

HUSE Bl DI TR T Y4BV §RT G gren &, s F - 41l § S0 Sl o deran ferdr @ —
(A) 3ol g (B) yuifaar &1 e (C) T SIF @f 99miia (D) aegwrfaar

Which one of the following pairs of codons is correctly matched with their function or the single for the
particular amino acid :

(A) GUU, GCU - Alanine (B) UAG, UGA - Stop

(C) AUG, ACG - Start/methionine (D) UUA, UCA- Leucine

FrfaRad § 9 fd o S @ dreHl Bl 396 bR 31T fARTE spfHl afd & Faodd & a1l Jal Aemn
T8 —

(A) GUU, GCU—va++ (B) UAG, UGA—x&® ST

(C) AUG, ACG—3IR++1,/ A+ (D) UUA, UCA—cgdH

Reverse transcriptase is ;

(A) RNA dependent RNA polymerase (B) DNA dependent RNA polymerase
(C) DNA dependent DNA polymerase (D) RNA dependent DNA polymerase
Rad grafshest & —

(A) RNA amemRa RNA dfeiiRet (B) DNA 3menmRa RNA dfefivRe

(C) DNA 2mermRd DNA dfefiRe (D) RNA 2mermRd DNA dfefliRs

If ‘+’ sign is assigned to beneficial interaction, ‘~" sign to detrimental and ‘0’ sign to neutral interaction, then

? < 2

the population interaction represented by ‘+ refers to—

(A) Mutualism (B) amensalism (C) commensalism (D) parasitism

af ‘4 foreg & R R v & forg, — e & g1feRe @ fog 8ik 0 forg &1 SeRiA IR fohan
& forg & oman 8, a1 4+~ R UeRid wHfte .wReR fhan fh a=fad el 8 —

(A) gfsiifaan (B) SRIOHIRAT (C) TifTar (D) wReifaen

Food chain in which microorganisms breakdown the food formed by primary producers are :

(A) parasitic food chain (B) detritus food chain

(C) consumer food chain (D) predator food chain

T8 DI WTE AT 8, FORT IUEHT §RT 1Y 1Y HISH Pl FeAsid dred & —

(A) RS Qe Fell (B) UgcHh Qe Hel

(C) SUHIeRTT TTE Hel (D) wR¥e @re el

Which one of the following areas in India, is a hot spot of biodiversity —

(A) Eastern Ghats (B) Gangetic plain (C) Sunderbans (D) Western Ghats
Rd # fFfaRad e § | 319 Sra—fafdydn & gfewdie &9 § —

(A) gdi =1e (B) M & A (C) g=xa+ (D) uf¥z it a1e

The CO, content by volume, in the atmospheric air is about —
argHvS § CO, B /I3l & o4 —
(A) 0.034% (B) 0.34% (C) 3.34% (D) 4%

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [14]
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NIT Allahabad

Yatharth Dhingra
Slo Sanjay Kumar

NIT Warangal

Sahil Khan
Slo Aashu Khan

Sonal Gupta
Dlo Sanjay Kumar Gupta

Chakshu Gupta

Bhawna Gupta
Dlo Gyan Chand Gupta

DJo Sitaram Gupta

Arpit Jain
Slo Dilip Kumar Jain

Kunal Jindal
Slo Mukesh Jindal

NIT Rourkela

Gaurika Jangid
Dlo Dinesh Jangid

NIT Rourkela

Devesh Kumar
S/o Niranjan Singh

NIT Nagpur

Priyanshu Gupta
S/o Niranjan Lal Gupta

N )
NIT Surat

Mansimar Singh
Slo Harjeet singh

&
MNIT Jaipur

Pankaj Bhupesh
Slo Dinesh Chand

MNIT Jaipur

Teena Kumari
Dlo Manjeet Singh

o

NIT Kurukshetra

Akshat Parashar
Slo Babulal Parashar

Sajid Khad

S/o Khurshed Khan

NIT Raipur

Jatin Gupta

Gulshan Gupta
Slo Sunder Lal Gupta

Slo Ajay Kumar Gupta

Mohit Kumar

Nishant Kumar Meena
Slo Mahendra Kumar

S/o Ramcharan Meena

IIIT Sonipat NIT Srinagar

Noushil Sharma

Manish
Slo Rajkumar Sharma

Slo Mohan Singh

MNIT Jaipur

Ekta Verma
D/o Deep Chand Verma

NIT Kurukshetra

Tushar Saini
/o Kamal Chand Saini

Kunal Khandelwal
Slo Jagdish Khandelwal

Nitin Kanwat
Lt Mr Dharam singh Meena

NIT Srinagar

Surendra Meena
$Slo Bakhtavar Singh Meena

Vidhushi Jangid
Dio Brijesh Sharma

Lalit Kumar
Slo Hari Singh

NIT Jalandhar

Arjun Bhatia
S/o Rakesh Kumar Bhatia

Jaspreet Singh
Slo Balkar Singh

[

MANIT Bhopal

Nitin Kumar
Slo Phool Singh

-~
b

NIT Raipur

Divyansh Saxena
Slo Umesh Raizada

2

NIT Jalandhar
Vipul Jain

$lo Pramod Jain

Neha Gupta
Dio Naresh Kumar Gupta

MANIT Bhopal

Vishal Meena
Slo Pooran Chand

2

NIT Raipur

Saransh Sharma
Sfo Rakesh Kumar Sharma

3

NIT Hamirpur

Lakshit Juneja

Slo Manoj Juneja

Bhavuk Dhanetia

Slo Anoop kumar Dhanetia

s
NIT Arunachal

Nitin Ghusinga
Slo Shrilal Meena

NIT Patna

Ravindra Kumar Meena
Slo Suresh Chand

NIT Manipur

Himanshu Meena
Slo Kailash chand Meena

AIT Pune

Arun
Slo Kanwar Pal

NIT Meghalaya

Devendra Kumar
Slo Laxman Prasad

Aryan Gupta
Slo Trivendra Gupta

-
MANIT Bhopal

Divyanshu Khandelwal
Slo Ashok kumar Gupta

Deepak Kumar
So Gheesa Ram

NIT Hamirpur

Ankur Kumar
Sfo Mukesh Chand

AIT Pune

Prateek Sikarwar
Slo Dharam Singh

IIIT Bhopal

Bholaram
Slo Jaivinder
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IIT Dhanbad IIT Jodhpur IIT Delhi IIT Delhi IIT Roorkee

Vishal Agarwal Lakshya Gupta Harshita Gupta Chahat Bansal Pranay Ninawat Deepanshu Budhraja Khushi Singh
Slo krishan kant gupta Slo Purshottam Dass Gupta Dlo Lokesh Gupta Slo Rajesh Kumar Bansal Slo Vikram Singh Slo Kishan Lal Khatri Dlo Rajender Singh

IIT Dhanbad
Bhavesh Sharma Nitik Sharma Riya Jain Vaibhav Singhal Ankit Sulaniya

Slo Sushil Kumar Sharma Slo Himanshu Sharma Dlo Mukesh Jain Slo Dinesh Kumar Singhal Slo Ramdayal Meena

Naman Saini Kartik Panwar
Slo Vimal pushp Slo Pradeep Kumar

o4 o
IIT Ropar IIT Hyderabad IIT Kanpur IIT Bombay

Ashish Sulania Lakshya Mukhija Harsh Khandelwal Abhimanyu Jain A ; P
h / shok Kumar Jat Mahima Kumar
Slo Prem Chand Slo Charan Jeet Mukhija Slo Virendra Kumar Gupta Slo Anil kumar Jain Slo Ramkishan Jat Dlo Raj Singh Sllzll.sa;?ndsrlansgingh

K‘;\f‘f]

IIT Palakkad

Anmol Agarwal Niraj Yadav Hemant Kumar Mohit Saini Saumil Gupta Himanshu Yadav
Slo Manoj kumar Agarwal Slo Rajendra Yadav Slo Mahesh chand Slo Rajesh Saini Slo Girish chand Gupta Slo Manoj kumar Yadav

IIT BHU IIT BHU

Sourav Amit Mina Nikita Mina Aynansh Khandelwal Rishita Gupta
Slo Mahendra Kumar Slo Om Ram Mina Do Mukesh Chand Meena Slo Manoj Khandelwal Dlo Rishi Gupta
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